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e Please check that this question paper contains 12 printed pages.
Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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(vii) 99 Q@22 V27 A% Hedler o & 3] # & | 3 el & g 307 150 v 7 A
781 g1 TRy |

General Instructions :

(i)  All questions are compulsory.

(ii) Questions number 1 = 5 are of one mark each. The answers to these questions
should not exceed 20 words each.

(iii) Questions number 6 — 10 are of two marks each. The answers to these questions
should not exceed 40 words each.

(iv) Questions number 11 — 16 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v) Questions number 17 — 21 are of five marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-
book.”

(vii) Questions number 22 — 27 are of six marks each. The answers to these questions
should not exceed 150 words each.

I TR @t R ¥ e & ST Yo i o el B we wCeH g 42 2 x5 =1

Which two objectives Jawaharlal Nehru wished to achieve through the strategy of
Non-alignment ?

2. 2 H ¥ afuw s B W ¥ el w - 2 a @ Fer s s Aty w0 A
TITERYT WA R ? 1
Which one of the two is more essential — construction of mega dams or an
environmental movement that opposes it and why ?

3, afem #i SR & gatua Frafefias st § & F9 900 TR © 2 1
(a) T Gotafa war arnga fova % dra famrem @ v 9t |
(b) zHeT Frator et fava 95 & e gva fear = o
(c) TN gRT I/ 9 AR, 1989 Ft s fean w4y |
(d) T® STEAT % ZA AT S U] W Welts o |
Which one of the following statements about the Berlin war is false ?
(a) It symbolized the division between the Capitalist and the Communist world.
(b) It was built immediately after the Second World War.
(c) It was broken by the people on 9" November, 1989.
(d) It marked the unification of the two parts of Germany.
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4. Tous sEeH ¥ gaiius SFS g I SN HIAT | 1

Highlight the most novel aspect of the Chipko Movement.

5. anfeEE (TUE ST, i Tl Sl T 1
Why was ASEAN established ?

6. i gE % e H o o) fommumet ® qeE e T 9 S i 0 2x1=2

Which two ideologies were involved in a conflict during the Cold War era and why ?

7. w1950 % 9§, 397 & 9 R i Wit S o qAvied e T o, ol dee
W1 1966 T Weited i AT T 2 2

While the rest of the country was reorganized on linguistic lines in 1950s, why had
Punjab to wait till 1966 ?

8 ‘e WRE ¥ 3aT TSI P U9 & €9 H T SE 9, F YOI Sl FHET & FHHE &
YT TR &1 A TH F9T § Fel 9% GeHd § 2 2

“The leaders of the newly independent India did not see politics as a problem; they
saw it as a way of solving the problems.” How far do you agree with the statement ?

9. YA 9RE W1 T H9 R FF 7% qU fehan 7 ? 2

How was the reorganization of North-East India completed and by when ?

10. Frefefad = @ e S 4xV2i=2

(A) (B)

(a) Trra & ufE faanmas i (i) =% TN

(b) 1974 H & I gEATE H g [HAT (i)  STAWSHTST ARTF0T

(c) o= HfyHee ¥ MHe 87 ¥ FHR (i) S FATEH

(d) e T & A (iv) = TE. ¥

Match the following : '
(A) (B)

(a) A politically controversial appointment (1)  Charu Majumdar

(b) Led the Railway strike in 1974 (i) Jayaprakash Narayan

(¢) Declined to join Nehru’s Cabinet * (i1i) George Fernandes

(d) Died in police custody (iv) Justice A.N. Ray
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11.

12.

13.

14.

15.

16.

7 ) oreieren § A GUR 5o &, Tiq 9 Ve S GURT 1 A W A qe 2 e

TN FRUT TL HIAT | 4x1=4

While the Chinese economy has improved dramatically, why has every Chinese not

received the benefits of the reforms ? Give any four reasons.

ﬁwwwwﬁwﬁwﬁmﬁm%mwﬁﬁﬁﬁwﬁ%?w
FIAT |

Why do some countries question the issue of India’s inclusion as a permanent

member of the U.N. Security Council ? Explain.

e w1 # e @ Free d, et sRer St i S S |

Explain the role of Environmental Movements to meet the challenge of

Environmental Degradation.

HG TR HY TS THRT F, TG T BT F SR A & 2

How did the coalition-like character of the Congress Pérty give it an unusual

strength ?

1977 & @I B S 9T A R WER 1975 T T 7T ST & FHIT TAHT GUE H
=Y ¢ f&ar 2 =vEn S |

How did Janata Party make the 1977 elections into a referendum on the Emergency

imposed in 1975 ? Explain.

R % e aveegaeen % Hied % W uRonEl S SEEHTTE G BT |

Critically examine the major outcomes of the Indian model of mixed economy.
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17, =9 Ko Mo steeRen % wegds 9ied iR Fefeien vt & 3 i 2+2+1=5

WA A & ST YT THT] 0T f5Har o 36 S wifaqul adeir R R | awe

=1 Fe o1 B o gl ® fat wifaqel SRvdl § e R @ Sl A % ki gE

Terew ¥ | 9 arer qeao] wteror e T o A SR SR TG % e | 9% Sie 9 |

1973 T 3RE-3EE J& §oT &1 | 39 9% [ fava & oe7 & foTT T e g7 o1 | 3RS

TS A A1 % T § 9] gl S df | 9 39 a9 | onfge weenat | o | wRd

§ IErR Sga S 9 T |

(i) WRE = AT UgSA YA GRIEI0T F far T o 2

(i) WRE A 7 RHO] 0T R, 39 HeT B 9RA Ff TR TS HI, T HieA A
T TR AT ¢ ?

(iil) 1970 %F T % wny H gieq fFe SR TeaT & RO AR § HeE wgq 9@ T4
of 2

Read the following passage carefully and answer the following questions :

When India conducted its first nuclear test, it was termed as peaceful explosion. India
argued that it was committed to the policy of using nuclear power only for peaceful
purposes. The period when the nuclear test was conducted was a difficult period in
domestic politics. Following the Arab-Israel War of 1973, the entire world was
affected by the Oil Shock due to the massive hike in the oil prices by the Arab
nations. It led to economic turmoil in India resulting in high inflation.

(i) When did India conduct its first nuclear test and why ?

(i) Why was the period, when the nuclear test was conducted in India, considered
to be a difficult period in domestic politics ?

(iii) Which international event of 1970s was responsible for high inflation in India ?

18. &0 U el B EHEYEE uigT Y Feafafaa weAt % s S 1+2+2=5

T 3 W YofarE! rdegEEn Wt SR G TE e 91 | T Haew o 6 39 X w

¥ HTE § [ ORE I O | vt SRdy it gaa A o f fafea @ aes me

=Y Foft wenfiest B | §9a Sienta U5 B YU % AT 3T smEetas e ¥ ae

F A AAH FI I W A | qfe w A e H agen SR getanr

Tt ¥ G E € | 31 der o e o defeus sawn @ el T i AR el

™ |

() U % W fefay T eroelt s ® ¢ wE ® uiteas e

(i) Afes EEt  FAST B A aEer A a7 2

(i) EifE frdt et T F S aee T8 @, @ srderaen wt FrifE WA ¥ e
et & T HIFT 4 9
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Read the passage given below carefully and answer the following questions :

Each of these countries was required to make a total shift to a capitalist
economy, which meant rooting out completely any structures evolved during this
period. Above all, it meant that private ownership was to be the dominant pattern of
ownership of property.. Privatization of state assets and corporate ownership patterns
were to be immediately brought in. Collective farms were to be replaced by private
farming and capitalism in agriculture. This transition ruled out any alternate or ‘third

’

- way’.

19.

59/1/3

(i) Name any two countries which were required to make a total shift.
(il) Why were the collective farms to be replaced by private farming ?

(iii) Since the ‘third way’ had been ruled out, what were the only two ways of
controlling the economy ?

A9 U T A A A A HIU 3 Fieiad et % 3w i
2+1+2=5

SINCE 1989

®

(i) 9T F TUH T F T T Ad T 2 F HEE B IS [TARTE JE w4 91 ?
(ifi) 1989 % W T fara o, T H@ UF & g gt 7o i et o 0

6



Study the cartoon given below and answer the following questions :

SINCE 1989

(i)  Identify any four national leaders from the above cartoon and mention the serial
number of each.

(ii) . Which was the most controversial issue of the peYiod related to leader No.2 as
Prime Minister of India ?

(iii) What was the position of the party led by leader No.1 in the Lok Sabha
elections of 1989 ?

Fre . Frefafas wee Foae gheataa ahentaat % fou gw 9@ 19 F @ WE |
2+1+42=5
(19.1) 1984 % wirep w1 Frate & foher g = Wity Wi il SR e g 4 2
(19.2) 1990 ¥ TG Hie H THR A HIF T Faia foaamag Fom fomr 2
(19.3) T oo w3 3 AT 37T GURT YRS I a9 TR 71 IROTH et 2
Note : This following questions are for Visually Impaired Candidates only in lieu
of Q. No. 19. '

(19.1) Which party had won the maximum number of seats in Lok Sabha
Elections of 1984 and under whose leadership ?

(19.2) What was the most controversial decision taken by the National Front
Government in 1990 ?

(19.3) Which Prime Minister started the new economic reforms and what was

its outcome ?
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20. Wmmmﬁmﬁwqﬁﬁwwmm*ﬁﬁﬁq: 2+2+1=5

e e Fore T & i AT S HROT T & A S S A
¥ 38 S F arwa o HH S & |{&gﬁmﬁwﬁm$’rwmwwm‘%
3 T T AT TSR T A o W ¥ | T 3 FOF T HE T & A H
é]ﬁam%,ﬁﬁwaﬁrmwﬁaqﬁmmmﬁmﬁﬁaﬁwm | 3] T
ERE R T TS w0 S weurE @ wite R & o o st o)
Trer-eamT Bl o | SR T H e FE SR e Sk wEi
TR 1 HE e E |

(i) X Y T | HH AT To SEEOT BT S VT T AT T BT |
(i) “HHERRT T i YRON H &= T ERRETE T A T8 2
(iii) ST o T ST R e Fruie o T 2

Read the following passage carefully and answer the following questions :

At the most simple level, globalisation results in an erosion of state capacity,
that is, the ability of government to do what they do. All over the world, the old
‘welfare state’ is now giving way to a more minimalist state that performs certain
core functions such as the maintenance of law and order and the security of its
citizens. However, it withdraws from many of its earlier welfare functions directed at
economic and social well-being. In place of the welfare state, it is the market that

becomes the prime determinant of economic and social priorities.

(i) What do the words ‘erosion of state capacity’ imply ? Explain with the help of

an example.
(i) Why is the concept of welfare state giving way to a minimalist state ?

(iii) How has market become the prime determinant of social priorities ?
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21.

{asia

POLITICAL
1. i i »
a0 E 55 B i BG B T s 75 T e

S fer T o o % YaamEtE |, 9 i @), ®), ©, ©) T (B) 7w @
T | S T TR ¥ SR S TEE i SR ST TR g § 3 W
w%m,mﬁﬁmﬁwmwﬁﬁﬁmﬁﬁﬁﬂém%mﬁ
fafaw | 5x1=5

T # T A STHAE | Wi AT 9T W AN

KILOMETRES
o &80

SCALE
L

() T wEvEs 39 wiq 9 for uferar @ S A GHE S |
(i) 393§ el e 95 @ ¢ |

(i) =@ 3w O e T SR I TR F T W E

(iv) &% 391 8T HAwfe o W |

(v) U g I S 1968 T T Ferrd a1 |
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In the given political outline map of South Asia, five countries have been marked as
@, , ©, @ and @ Identify them on the basis of the information given below
and write their correct names in your answer book along with their respective serial

number of the information used and the concerned alphabets as per the following
format :

Sr. No. of the information | Alphabet | Name of Country

(i)  An important country but it is not considered to be a part of South Asia.
(ii) The country has a successful Democratic System.

(iii) This country has had both Civilian and Military rulers.

(iv) This country had Constitutional Monarchy.

(v)  An Island nation which was a Sultanate till 1968.

e Fefofas uw Faor gheafus whenfamt & oo vem @ 21 & @R W
£ 2+1+2=5
(21.1) =feror ofyrar & wig: SE-FE G 39 iEe fHT S § 2
(21.2) =fqor oferar % B @ & 3901 H Swaitn e GhaaEs 96 @ § 0
(21.3) 89 (SAARC) T2 9IRT (SAFTA) % fowga w9 fofag |

Note : The following questions are for visually impaired candidates only in lieu of
Q. No. 21.
(21.1) The expression ‘South Asia’ usually includes which countries ?

(21.2) Which two countries of South Asia have successfully operated
democratic system ?

(21.3) Write the full forms of SAARC and SAFTA.

22, W SET WS YoY% UvE, IR M HOwEE 66 a9 e 7 wes anretadl S
forvetwor #ifaw | SR T #F UM 9 F ®9 F eimbET WEE S T el 9

U] F IeehE HIAT | 2+4=6
arerar

25 5[, 1975 ® 9Ra ¥ o feaf = diwon e S % oo socert oRkfefmr e

fereetam st | 6

Analyse the circumstances that favoured Indira Gandhi to become Prime Minister
after the death of Lal Bahadur Shastri. Mention any four achievements of Indira
Gandhi that made her popular as a Prime Minister.

OR
Analyse the circumstances responsible for the declaration of a state of emergency in
India on 25" June, 1975.
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23.

24,

25.

59/1/3

“@aﬁaﬁhﬁaﬁuﬁmaﬂrw%aﬁwwqqnaﬁaﬂmm,w#ﬁﬁﬁ&“m%w

T S T " T8 e % e fog S % e 9 d s ad S | 3x2=6
Frear

AN F UV ARG A AT S At i e % Htee @ et menhy g

st & fafe=r &mt Wt Hf | 3+3=6

“The accommodation of regional demands and the formation of linguistic states were

also seen as more democratic.” Justify the statement with any three suitable

arguments.
OR

Examine the different areas of agreement and disagreement with respect to the model
of economic development to be adopted in India after independence.

sﬁag@%mmﬁﬁfﬁﬁwmmmﬁqmwmwﬁ

FRRI i deR T F Forg quR o v A E | 6x1=6
T
S T e G Ft I SRonaT § w7 sfmr & 7 smer S | 3+3=6

State any six post Cold War changes that have necessitated reforms to make the U.N.
work better.

OR

What is meant by traditional notions of internal and external security ? Explain.

ﬁwwmﬁm%mw%mmmﬁsﬁﬂfﬂ?maﬁﬁ, R & 3T

dit fafir gfeion w1 faveror S | 3x2=6
g7

T el A T FRe w1 e i S e g 9 e ged A e @

A W, TF T 9 3 F T Ieeerh F 3x2=6

Analyse the three different views within India about the type of relationship India
should have with the United States of America.

OR

Evaluate any three major factors responsible for making the European Union a
political force from being an economic force.
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26, difags g9 § Qfaad s F e a1 SEReTs a9l oiF TRt AR Sl SR

T | 3+3=6
arerar

o T T A% Ihm ¥ RF v 9w ¥ ok, i meat @ freier werifEr

SETEr i BT 39T H o # & vt | g 97 2 e T | 6

Highlight any three positive and three negative features each of the Soviet system in
the Soviet Union.

OR

How far is it correct to say the international alliances during the Cold War era were
determined by the requirements of the superpowers and the calculations of the
smaller states ? Explain.

27 TR AT a6 & 7 oty g ufEien g 8 o, a g e e @t s
STt & 2 TR SeTE TREeA U ET % e @ 30 iy | 2+2+2=6

FyAr

fferemait 1 TR HUA B, WRE § UHAT FI A @A & WA H, SF U FieA 0 E,
Rt oo ondt At & | 9 % O Pl A Rl T AR i | 3x2=6

What is Sardar Sarvovar Project 2 Which benefits are expected to be if the project
becomes successful ? Also state the issues of relocation and rehabilitation associated
with it.

OR

While trying to forge and retain unity in diversity in India, there are many difficult
issues which are vet to be tackled. Describe any three such areas of tension.
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